Puissances de Dix (E)

Trouvez chaque produit ou quotient.

3,3705 + 102 = 1,447 x 10 =
42 +10% = 8,77 x 103 =
7,323 + 10" = 4,453 x 103 =
1,109 + 10% = 4,8031 + 103 =
7,396 + 10° = 7,7 x 103 =
1,46 X 10% = 3,6 X 101 =
9,8183 x 10" = 1,97 x 10% =
2,684 x 10" = 1,33 x10% =
6,987 + 102 = 1,213 x 10% =
2,485 + 10" = 5,77 X 103 =
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Puissances de Dix (E) Solutions

Trouvez chaque produit ou quotient.

3,3705 + 10% = 0,033705

4,2 +10°=0,0042

7,323 + 10' = 0,7323

1,109 + 10*=0,01109

7,396 = 10% = 0,007396

1,46 X 10% = 146

9,8183 x 10* = 98,183

2,684 x 10 = 26,84

6,987 = 10* = 0,06987

2,485 + 10' = 0,2485

1,447 x 10* = 14,47

8,77 X 10°=8770

4,453 x 10° = 4 453

4,8031 + 10° = 0,0048031

7,7 X 10° =7 700

3,6 X 10 =36

1,97 x 10%> = 197

1,33 x 10°=1330

1,213 x 10°* =1 213

5,77 X 10* =5 770
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